EARAROBEEIERT — 2 N— IBISH —F

201757H278 (k) 9EIEMH2H

m C2— ¥5%3®t (w8 | imEmml - |5 @) o s
[AE4£] 1% :350,000 ™  23%&:84,000”  33&:42,000H 437 :28,000H .~ 57&:21,000H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
118l10| Ny ¥ahzb o4 ;liq;? 1:(3_2).0 7-7-7-5 | 38.7| — 1 ;1_417) %1”*&7:! (Em)
RFZA Y E—y BiTU R N T -5
S s 4 | HZAEEX 1:32.4 6-6-4-6 | 39.5| — 3 486 | EREEREL (M)
2178 Hho /70T 54.0 (2 1/2) (o) |18AE
LI IATA—h— B:LXLAY FIR=WF 77— s
N A a0 . _4-n_ — IWR#=E (k)
307l 7 JY—=x1— 4 4 = 1(73%:) 4-4-3-3 |39.8 4 (4&7) s
R:Fh¥<7128 B:NRNZTFs—-L A+ FE
= N K & ABB : —3-4- — HEm—ER (BR)
4 3| 7125497 -n 6 oy 1.(312).7 3-3-4-4 | 39.9 6 zzg; A=
R:vYUETyA BIATIR BEZX 2 Y K
. . N WA .32, —5-6- . - 2ERE (FM)
sl1]1]7V=—x275"% i 7 e 1(732t>7 5-5-6-7 | 39.6 5 zzgg) st
v xNTT B:F¥ao0-X =Eitae]
. oo ALEE :32. -9-8- . — RARK (BE
6|5|5|T—Y—1FN #7 | X 1(13/22)8 9-9-8-8 |39.3 2 (4_527) frs
R:¥xrinda— B:5-—Y—FtF AR
) N 5 | JIRE— 1:32.9 1=1-1-1 | 40.4| — 8 487 | KRE= (ER)
70l 6| 7RBT ) a—-FIb * 56.0 (3/4) (o) | 1) F—AHFNZNER
Z:ayau4ny Bl I FiN— AW 7S
S EYT_° 44 | SHEEgE— 1:33.3 8-8-9-9 [39.5| — 10 | 484 | KEEX (FEk)
s 0| 73%Yy /-0 56.0 2 1/2) (g |AREET
R:F4—T2AA B:FKAXFK H—L— - JvX> - T7—LARS
S ases NI K FF 8 :33. -10-10- . — FHABE (F)
9 g | N=TrTN— L] A (11 313/45) 10-10-10-10{ 39.5 9 :1+372) 3 :EK
LA LINT Ry VX BS54 hU—4 Il gk—
=0 i 5 | ABEEF 1:33.7 2-2-2-2 |41.0| — 7 464 | /IMIIEH (EE)
10N 4| 7N~ A (1 1/4) (45) | EEREEEL
L:IVRRNTAZ2Y BEVRRTY R R 77—L4
® 1—F—@EBIERL
1T=7r= 6,4,3,7,1,8,10,2,5,9
2a=5F= 6,4,3,7,1,8,10,2,5,9
Ja=5= 6,4,7,(3,8),1,10,5,2,9
43—+ — 6,4,7,3,10,8,1,5,2,9
[ /N
B 10 200M 714K 8-10 250 e E 7-8 400 JEE 7-8-10 1,170H
B B 10 130H4 7-10 290M B = 8-10 710M JEE 10-8-7 5,170
8 1909 7-8 410M B H 10-8 1,240
7 1809

ABICOVWTRDTEEERROODE. TR LIV,




